MATEMATICAS. BC2 TEMA 2: Ecuaciones con M atrices
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Calcular el valor de X en las siguientes ecuaciones:
1. XA=B+1T
AX +B=0C
XA+8B =20
AX +8X =C

XAB-XC =20

Siendo:

MR WN

Solucidn:

1. XA=8+1

XAA'=(B+I1A"
XI=(B+I)A?
X=(B+I1A™?

9 -2

(5 7)

-2 1

2. AMX +8B=C

AX=C-5
A'AX=AYC-B)

IX=A7'C-8B)
X=A%c-8)

x-(5 2

2. XAB-XC =20

X(AB-C)=2C
X[AB-C)AB-¢)'-2¢c(AB-C)"
XI-2c(AB-CY"

3. XA+8=22C

X =2C[AB - c;“

XAA'=-[2c-B)A™ 7
X¥=[2¢C-B)al _| 2
-23 3
= - -1 ——— =
X=(2C-B)A T 5
x_[2 8
-11 4
4. AX+BX =C
(A+B]X =C
1

3 -4
x_|7 7
-1 1
7 7



